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           PLAN VIEW          

SHEET  13 OF 18 SHEETS STA. 455+00   TO STA. 485+00    
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EXIST. CURVE EXCL3-16

PI STA. = 457+30.87

R = 9,046.80’

T = 201.35’

L = 402.64’

E = 2.24’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 455+29.52

P.T. STA. = 459+32.15

EXIST. CURVE EXCL3-17

PI STA. = 462+30.80

R = 4,154.10’

T = 201.35’

L = 402.39’

E = 4.88’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 460+29.45

P.T. STA. = 464+31.84

EXIST. CURVE EXCL3-18

PI STA. = 467+50.49

R = 3,047.20’

T = 200.61’

L = 400.65’

E = 6.60’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 465+49.87

P.T. STA. = 469+50.52
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EXIST. CURVE EXCL3-19

PI STA. = 475+30.30

R = 5,719.40’

T = 201.39’

L = 402.61’

E = 3.54’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 473+28.91

P.T. STA. = 477+31.52
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STA. 470+00 - STA. 470+67
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